
MATHS

BOOKS - TARGET MATHS (HINGLISH)

TRIGONOMETRY

Example

1. Fill in the blanks with refrence to the figure given below . 

i.  

ii.  

sin θ =

cos θ =

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GIU8NsjWk54T


iii.  

Watch Video Solution

tan θ =

2. Complete the relations in ratios given below . 

 


ii.  

iii.  

iv. 

Watch Video Solution

i. =
sin θ

cos θ

sin θ =

cos θ =

tan θ × tan(90 − θ) =

https://dl.doubtnut.com/l/_GIU8NsjWk54T
https://dl.doubtnut.com/l/_2j3ioR4Db8V3
https://dl.doubtnut.com/l/_gUFRbjg2g4Ow


Practice Set 6 1

3. Complete the equation. 

 =

Watch Video Solution

sin2 θ + cos2 θ

4. Write the values of the following trigonometric ratios . 

i.  

ii.  


iii.  

iv.  


v .  

vi. 

Watch Video Solution

sin 30∘ =

cos 30∘ =

tan 30∘ =

sin 60∘ =

cos 45∘ =

tan 45∘ =

https://dl.doubtnut.com/l/_gUFRbjg2g4Ow
https://dl.doubtnut.com/l/_D2Dm6k9eP7EK


1. If sin  , then find tan .

Watch Video Solution

θ = and cos θ =
7
25

24
25

θ

2. If  then find the values of  and 

Watch Video Solution

tan θ =
3

4
secθ cos θ

3. If , find the values of .

Watch Video Solution

cot θ =
40

9
cos ecθ and sin θ

4. If , find the values of  and 

.

Watch Video Solution

5 secθ − 12 cos ecθ = 0 secθ, cos θ

sin θ

https://dl.doubtnut.com/l/_7DLsUZ4NPJpA
https://dl.doubtnut.com/l/_huLuwlY8pUEx
https://dl.doubtnut.com/l/_vh5FXQWpwo6o
https://dl.doubtnut.com/l/_3vychKEuE1Rx


Watch Video Solution

5. If , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan θ = 1 =
sin θ + cos θ

secθ + cos ecθ

1

1

2

√3

2

0

6. Prove that : 

Watch Video Solution

+ cos θ = secθ
sin2 θ

cos θ

https://dl.doubtnut.com/l/_3vychKEuE1Rx
https://dl.doubtnut.com/l/_3fgR4iXe0gTZ
https://dl.doubtnut.com/l/_hngpt9Ydp4vV


7. Prove that: 

Watch Video Solution

cosθ(1 + tan2 θ) = 1

8. Prove that: 

Watch Video Solution

= secθ − tan θ
√1 − sin θ

√1 + sin θ

9. Prove that: `sqrt((1+s intheta)/(1+s intheta))={s e ctheta-t a

ntheta,\ i\ pi/2

Watch Video Solution

https://dl.doubtnut.com/l/_hngpt9Ydp4vV
https://dl.doubtnut.com/l/_IKLKEnuM17YE
https://dl.doubtnut.com/l/_cZnTUc2syJ7L
https://dl.doubtnut.com/l/_30pemC97wOIi


10. Prove that: 

.

Watch Video Solution

cot θ + tan θ = cos ecθ secθ

11. Prove that 

 


Watch Video Solution

(i) = (cosecθ + cot θ)
sin θ

(1 − cos θ)

(ii) = (secθ + tan θ)
1

(secθ − tan θ)

12. Prove that: 

.

Watch Video Solution

sin4 θ − cos4 θ = 1 − 2 cos2 θ

https://dl.doubtnut.com/l/_TV9gpafXW39e
https://dl.doubtnut.com/l/_MG6mig8IrOxf
https://dl.doubtnut.com/l/_2wzeTKmVTnHy


13. Prove that : 

 =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

secθ + tan θ

1

1 + sin θ

1

1 − sin θ

cos θ

1 + sin θ

cos θ

1 − sin θ

14.  then prove that 

Watch Video Solution

tan θ + = 2
1

tan θ
tan2 θ + = 2

1

tan2 θ

https://dl.doubtnut.com/l/_A0rbsSbqXdx5
https://dl.doubtnut.com/l/_yTgcrjdXzHuB
https://dl.doubtnut.com/l/_PPCFBDw1DpA4


Practice Set 6 2

15. Prove: 

Watch Video Solution

+ = sinA cosA
tanA

(1 + tan2 A)
2

cot A

(1 + cot2 A)
2

16. Prove: 

Watch Video Solution

sec4 A(1 − sin4 A) − 2 tan2 A = 1

17. Prove: 

Watch Video Solution

=
tan θ

secθ − 1

tan θ + secθ + 1

tan θ + secθ − 1

https://dl.doubtnut.com/l/_PPCFBDw1DpA4
https://dl.doubtnut.com/l/_p6p8riovWS0K
https://dl.doubtnut.com/l/_8nGX5HNdab2j


1. A person is standing at a distance of 80 m from a church

looking at its top. The angle of elevation is of . Find the

height of the church.

Watch Video Solution

45∘

2. From the top of a lighthouse, an observer looking at a boat

makes an angle of depression of . If the height of the

lighthouse is , then find how far is the boat from the

lighthouse. 

Watch Video Solution

60∘

90m

(√3 = 1.73)

https://dl.doubtnut.com/l/_WZjQbxQ7pu52
https://dl.doubtnut.com/l/_NGtrn1NSbLMG


3. Two buildings are facing each other on either side of a road

of width 12m. Form the top of the first building , which is 10m.

High, the angle of elevation of the top of the second is .

What is the height of the second building?

Watch Video Solution

60∘

4. Two poles of heights 18 meter and 7 meter are erected on a

ground. The length of the wire fastened at their tops in 22

meter. Find the angle made by the wire with the horizontal.

Watch Video Solution

5. A storm broke a tree and the treetop rested 20 m from the

base of the tree, making an angle of  with the horizontal.60∘

https://dl.doubtnut.com/l/_lwiqPRGiF4gn
https://dl.doubtnut.com/l/_0notlmhruoTK
https://dl.doubtnut.com/l/_BEU7kp2b9abT


Problem Set 6

Find the height of the tree.

Watch Video Solution

6. A kite is flying at a height of 60 m above
 the ground. The

string attached to the kite is temporarily tied to a point on
the

ground. The inclination of the string with the ground is 
 .

Find the length of the string, assuming that there is no sl

Watch Video Solution

60o

1.  = ?

A. 1

sin θ. cos ecθ

https://dl.doubtnut.com/l/_BEU7kp2b9abT
https://dl.doubtnut.com/l/_xRyJY0bhkUru
https://dl.doubtnut.com/l/_0TKmsJWHx0iV


B. 0

C. 

D. 

Answer: A

Watch Video Solution

1

2

√2

2. …….

A. 

B. 

C. 

D. 

Answer: B

cos ec45∘ =

1

√2

√2

√3

2

2

√3

https://dl.doubtnut.com/l/_0TKmsJWHx0iV
https://dl.doubtnut.com/l/_sBKRbj2ORLzO


Watch Video Solution

3.  = ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 + tan2 θ

cot2 θ

cos ec2θ

sec2 θ

tan2 θ

4. When we see at a higher level, from the horizontal line, angle

formed is..

https://dl.doubtnut.com/l/_sBKRbj2ORLzO
https://dl.doubtnut.com/l/_CCIm2jGllNev
https://dl.doubtnut.com/l/_nDisuyLfL4lj


A. angle of elevation

B. angle of depression

C. 0

D. straight angle.

Answer: A

Watch Video Solution

5. If , ffind the value of  using trigonometric

identity.

Watch Video Solution

sin θ =
11

61
cos θ

6. If , find the values of other trigonometric ratios.tan θ = 2

https://dl.doubtnut.com/l/_nDisuyLfL4lj
https://dl.doubtnut.com/l/_yYZI3bbKeXhq
https://dl.doubtnut.com/l/_gsyow6zezy10


Watch Video Solution

7. If , find the values of other trigonometric ratios.

Watch Video Solution

secθ =
13

12

8. Prove that : 

Watch Video Solution

secθ(1 − sin θ)(secθ + tan θ) = 1

9. Prove : .

Watch Video Solution

(secθ + tan θ)(1 − sin θ) = cos θ

https://dl.doubtnut.com/l/_gsyow6zezy10
https://dl.doubtnut.com/l/_MmpnjKKCtlOx
https://dl.doubtnut.com/l/_Ebel93U1VucL
https://dl.doubtnut.com/l/_XlMkqScZh46C


10. Prove that : 

Watch Video Solution

sec2 θ + cosec2θ = sec2 θ ⋅ cosec2θ

11. Prove 

Watch Video Solution

: cot2 θ − tan2 θ = cos ec2θ − sec2 θ

12. Prove that : 

Watch Video Solution

tan4 θ + tan2 θ = sec4 θ − sec2 θ

13. Prove 

Watch Video Solution

+ = 2 sec2 θ
1

1 + sin θ

1

1 − sin θ

https://dl.doubtnut.com/l/_1q66bdmLGjAM
https://dl.doubtnut.com/l/_IfQeLuFzfxyz
https://dl.doubtnut.com/l/_RUXNiNy9JFsh
https://dl.doubtnut.com/l/_rrTddxRjy4Ab


Watch Video Solution

14. Prove the following: 

Watch Video Solution

sec6 x − tan6 x = 1 + 3 sec2 x × tan2 x

15. Prove that : 

Watch Video Solution

=
tan θ

secθ + 1

secθ − 1

tan θ

16. Prove the following: 

Watch Video Solution

= sec2 θ + tan θ
tan3 θ − 1

tan θ − 1

https://dl.doubtnut.com/l/_rrTddxRjy4Ab
https://dl.doubtnut.com/l/_vUeH3fFJO6BM
https://dl.doubtnut.com/l/_l5LPAcVeGyjL
https://dl.doubtnut.com/l/_phHL417ZrWu7


17. Prove that 

Watch Video Solution

= .
sin θ − cos θ + 1

sin θ + cos θ − 1

1

(secθ − tan θ)

18. A boy standing at a distance of 48 meters from a building

observes the top of the building and makes an angle of

elevation of . Find the height of the building .

Watch Video Solution

30∘

19. From the top of a lighthouse , an observer looks at a ship

and finds the angle of depression to be . If the height of

the lighthouse is 100m, then find how far is that ship from the

lighthouse.

30∘

https://dl.doubtnut.com/l/_A4bJ3gx8QBW3
https://dl.doubtnut.com/l/_Bx2iOZQRB5D4
https://dl.doubtnut.com/l/_cGcUdlGdkCQ3


Watch Video Solution

20. Two buildings are in front of each other on a road of width

15 meters. Form the top of the first building, having a height of

12 meter, the angle of elelvation of the top of the second

building is . What is the height of the second building?

Watch Video Solution

30∘

21. A ladder on the platform of a firebrigade van can be

elevated at an angel of  to the maximum. The length of the

ladder can be extended upto .If the platform is  above

the ground, find the maximum height from the ground upto

which the ladder can reach 

Watch Video Solution

70∘

20m 2m

(sin 70∘ = 0.94)

https://dl.doubtnut.com/l/_cGcUdlGdkCQ3
https://dl.doubtnut.com/l/_9XYWWW7z3Zb3
https://dl.doubtnut.com/l/_0yadOcGSTNNh


Activities For Practice

22. While landing at an airport, a pilot made an angle of

derpession of . Average speed of the plane was .

The plane reached the ground after 54 seconds. Find the

height at which the plane was when it started landing. 

Watch Video Solution

20∘ 200km/h

(sin 20∘ = 0.342)

1. If , find the vales of .

Watch Video Solution

sin θ =
7

25
cos θ and tan θ

https://dl.doubtnut.com/l/_0yadOcGSTNNh
https://dl.doubtnut.com/l/_S2QFcLikZbpO
https://dl.doubtnut.com/l/_waovyP4kbuWq


Multiple Choice Questions

2. A person is standing at a distance of 80 m from a church

looking at its top. The angle of elevation is of . Find the

height of the church.

Watch Video Solution

45∘

3. Prove : .

Watch Video Solution

(secθ + tan θ)(1 − sin θ) = cos θ

1. 

A. 0

cos θ. secθ =

https://dl.doubtnut.com/l/_8p9j26hNiplz
https://dl.doubtnut.com/l/_e2AOUwRorpii
https://dl.doubtnut.com/l/_T03whgxsENyt


B. 

C. 1

D. 

Answer: C

Watch Video Solution

1

2

√2

2.  =

A. 0

B. 

C. 1

D. 

Answer: C

tan θ. tan(90∘ − θ)

1

√3

√3

https://dl.doubtnut.com/l/_T03whgxsENyt
https://dl.doubtnut.com/l/_oif5twCeEqZc


Watch Video Solution

3. Choose the correct answer in each of the following

questions: 

If 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos θ =  then tan θ = ?
4
5

3

5

3

4

4
3

5

3

https://dl.doubtnut.com/l/_oif5twCeEqZc
https://dl.doubtnut.com/l/_PAeR206RxNWt


4. If  , then  =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cot θ =
7
8

tan2 θ

7
8

8

7

49

64

64

49

5. If  , then  =

A. 0

B. 1

tan θ =
4

3
3 sin θ − 4 cos θ

https://dl.doubtnut.com/l/_6PfLpvQ5Qg3L
https://dl.doubtnut.com/l/_QprzHA1BAS3p


C. 

D. 

Answer: A

Watch Video Solution

4
5

3

5

6. Which of the following is the value of  ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sec 30∘

√3

1

√3

√3

2

2

√3

https://dl.doubtnut.com/l/_QprzHA1BAS3p
https://dl.doubtnut.com/l/_MvwrE9u1mazJ


7.  =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2tan 30∘

1 + tan2 30∘

sin 30∘

sin 60∘

cos 60∘

tan 60∘

8.  =

A. 

1 − cot2 45∘

1 + cot2 45∘

cos 90∘

https://dl.doubtnut.com/l/_MvwrE9u1mazJ
https://dl.doubtnut.com/l/_ohP8iNDPb2xd
https://dl.doubtnut.com/l/_nevK2XrbiEfP


B. 

C. 

D. 

Answer: A

Watch Video Solution

sin 90∘

sin 45∘

cos 45∘

9.  ……

A. 

B. 

C. 

D. 

Answer: C

1 + cot2 θ =

sec2 θ

cos2 θ

cos ec2θ

tan2 θ

https://dl.doubtnut.com/l/_nevK2XrbiEfP
https://dl.doubtnut.com/l/_OEORUAxqyF4H


Watch Video Solution

10. 

A. 0

B. 1

C. -1

D. 2

Answer: C

Watch Video Solution

tan2(90∘ − θ) − cos ec2θ =

11. If  then the value of  is

A. 

cos θ = ,
24
25

sin θ

7
24

https://dl.doubtnut.com/l/_OEORUAxqyF4H
https://dl.doubtnut.com/l/_CkoWVWRjVFbv
https://dl.doubtnut.com/l/_NaR0iKBwmuHS


B. 

C. 

D. 

Answer: B

Watch Video Solution

7
25

25

7

24
7

12. If 
, then 
 
(b) 
 (c) 
 (d) 

A. 

B. 

C. 

D. 

tan θ =
3

4
cos2 θ − sin2 θ =

7
25

1 −
7
25

4

25

3

25

4

25

7

25

9

25

https://dl.doubtnut.com/l/_NaR0iKBwmuHS
https://dl.doubtnut.com/l/_vG0lwdN0W7xn


Answer: C

Watch Video Solution

13. If  , then  =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cot θ =
3

4

sin θ − cos θ

sin θ + cos θ

1

7

2

7

1

4

3

4

https://dl.doubtnut.com/l/_vG0lwdN0W7xn
https://dl.doubtnut.com/l/_nfjwu7h7SQPX


14. Find the value of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 + tan2 θ

1 + cot2 θ

sec2 θ

cos2 θ

cos ec2θ

sin2 θ

15. 

A. 

B. 

(1 − cos2 θ)cot2 θ

sec2 θ

cos2 θ

https://dl.doubtnut.com/l/_ESIvXqsvflrC
https://dl.doubtnut.com/l/_yiBvE1kwJkig


C. 

D. 

Answer: B

Watch Video Solution

cos ec2θ

sin2 θ

16.  =

A. 0

B. 1

C. 2

D. 

Answer: B

Watch Video Solution

sec2 θ −
1

cos ec2θ − 1

sec2 θ

2 cos ec2θ

https://dl.doubtnut.com/l/_yiBvE1kwJkig
https://dl.doubtnut.com/l/_hPRhr8e2jVHn


17. Write the value of 

A. 0

B. 1

C. 

D. 

Answer: B

Watch Video Solution

cosec2θ(1 + cos θ)(1 − sin θ).

sec2 θ

sin2 θ

18. =

A. 5

−
5

cot2 θ

5

cos2 θ

https://dl.doubtnut.com/l/_hPRhr8e2jVHn
https://dl.doubtnut.com/l/_0vk3G4CKuhXx
https://dl.doubtnut.com/l/_ngOM52hp6NTP


B. 

C. -5

D. 

Answer: C

Watch Video Solution

1

5

−
1

5

19. 

A. 

B. 

C. 

D. 

Answer: B

=
sin θ

1 + cos θ

cos θ

1 − sin θ

1 − cos θ

sin θ

1 − sin θ

cos θ

1 − cos θ

1 + cos θ

https://dl.doubtnut.com/l/_ngOM52hp6NTP
https://dl.doubtnut.com/l/_Lk4M9qIKOq4V


Watch Video Solution

20. If  , then  =

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

cos ecθ − cot θ =
1

3
cos ecθ + cot θ

21. If  is equal to

A. 0

sin θ + sin2 θ = 1  then cos2 θ + cos4 θ

https://dl.doubtnut.com/l/_Lk4M9qIKOq4V
https://dl.doubtnut.com/l/_6AeSUBAi4TSp
https://dl.doubtnut.com/l/_ALojdZ6Z6vKf


B. 1

C. -1

D. 2

Answer: B

Watch Video Solution

22. If  and  , then

A. 

B. 

C. 

D. 

Answer: C

sin θ + cos θ = m sin θ − cos θ = n

m2 + n2 = 1

m2 − n2 = 1

m2 + n2 = 2

m2 − n2 = 2

https://dl.doubtnut.com/l/_ALojdZ6Z6vKf
https://dl.doubtnut.com/l/_4qZsg7qe1Hrb


Watch Video Solution

23. When we see below the horizontal line , then the angle

formed is ………….. .

A. A Zero degree angle

B. the angle of depression

C. the angle of elevation

D. a straight angle

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4qZsg7qe1Hrb
https://dl.doubtnut.com/l/_oiMUiTM1v52D


24. If a pole 12 m high casts a shadow  long on the

ground then the sun's elevation is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4√3m

30∘

45∘

60∘

90∘

25. A kite is flying at a height 80 m above the ground . The

string of the kite which is temporarily attached to the ground

https://dl.doubtnut.com/l/_KncdmpJrI3Ne
https://dl.doubtnut.com/l/_4ZdzoMJ55fZM


makes an angle  with the ground. If there is no slack in the

string, then the length of the string is

A. 40 m

B. 

C. 80 m

D. 

Answer: D

Watch Video Solution

45∘

40√2

80√2

26. The angle of elevation of top of the tower from a point P on

the ground is  . If the points is 45 m away from the foot of

the tower , then the height of the tower is

A. 45 m

30∘

https://dl.doubtnut.com/l/_4ZdzoMJ55fZM
https://dl.doubtnut.com/l/_CZ4hlNTgmwtD


B. 15 m

C. 

D. 

Answer: C

Watch Video Solution

15√3

20√3m

27. The angle of depression of a ship as observed from the top

of a lighthouse is  . If the height of the lighthouse is 200 m

, then what is the distance of the ship from the foot of the

lighthouse ?

A. 200 m

B. 400 m

C. 100 m

45∘

https://dl.doubtnut.com/l/_CZ4hlNTgmwtD
https://dl.doubtnut.com/l/_0zi1weqfTJen


Additional Problems For Practice Based On Practice Set 6 1

D. 

Answer: A

Watch Video Solution

200√3m

1. If  , then find the value of .

Watch Video Solution

sin θ =
20

29
cos θ

2. If  , where  is an acute angle, find the value of 

 by using identities.

Watch Video Solution

sin θ =
8

17
θ

cos θ

https://dl.doubtnut.com/l/_0zi1weqfTJen
https://dl.doubtnut.com/l/_ZLkgRTXaZIsf
https://dl.doubtnut.com/l/_FdI7iCNfCaOk


3. If  , where  is an acute angle. Find the value of 

.

Watch Video Solution

cos θ =
3

5
' θ'

sin θ

4. If  then find the value of .

Watch Video Solution

secθ =
25

7
tan θ

5. If  then find the values of  and .

Watch Video Solution

cot θ =
8

15
sin θ secθ

6. If  where  is an acute angle , find the values of

other trigonometric ratios using identities .

sin θ = ,
5

13
θ

https://dl.doubtnut.com/l/_a2enD1uiFelE
https://dl.doubtnut.com/l/_y6K9Txy55PB8
https://dl.doubtnut.com/l/_iO4QHqvf7MYt
https://dl.doubtnut.com/l/_dV7umU119qw9


Watch Video Solution

7. If  , then find the values of other trigonometric

ratios .

Watch Video Solution

tan θ =
20

21

8. If  , find the values of .

Watch Video Solution

5 sin θ − 12 cos θ = 0 secθ and cos ecθ

9. If  , then find the values of 

 .

Watch Video Solution

3 sin θ − 4 cos θ = 0

tan θ, secθ and cos ecθ

https://dl.doubtnut.com/l/_dV7umU119qw9
https://dl.doubtnut.com/l/_7UyHnl6yWY2A
https://dl.doubtnut.com/l/_kSvPhdkmt4QJ
https://dl.doubtnut.com/l/_j8hy7wMVaj65


10. If  then find the value of 

Watch Video Solution

cos θ =
√3

2

1 − secθ

1 + cos ecθ

11. If 
, find the
value of 

Watch Video Solution

sin θ =
4
5

4 tan θ − 5 cos θ

secθ + 4 cot θ

12. Prove that : 

Watch Video Solution

= cos ecθ + cot θ
sin θ

1 − cos θ

https://dl.doubtnut.com/l/_bvohLtrO4CVg
https://dl.doubtnut.com/l/_CcIkhxi4HcL9
https://dl.doubtnut.com/l/_3cgLvZvHcO9b


13. Prove that : 

Watch Video Solution

tan θ − cot θ =
2 sin2 θ − 1

sin θ cos θ

14. Prove that : 

Watch Video Solution

√ = cos ecθ + cot θ
1 + cos θ

1 − cos θ

15. Prove the trigonometric identities:

Watch Video Solution

√ = cos ecθ − cot θ
1 − cos θ

1 + cos θ

https://dl.doubtnut.com/l/_9pmjr4HpFFyd
https://dl.doubtnut.com/l/_JGMekl0kiHSq
https://dl.doubtnut.com/l/_XplsEVsfX9fk


16. Prove that 

Watch Video Solution

secx + tanx = √
1 + sinx

1 − sinx

17. Prove that : 

Watch Video Solution

sec2 θ − cos2 θ = sin2 θ(sec2 θ + 1)

18. Prove that : 

Watch Video Solution

cos4 θ − cos2 θ = sin4 θ − sin2 θ

19. Prove that sin6 θ + cos6 θ = 1 − 3 sin2 θ cos2 θ

https://dl.doubtnut.com/l/_eula22UfY5qt
https://dl.doubtnut.com/l/_vr1TLFqIU9Nv
https://dl.doubtnut.com/l/_HduYP66vkSdW
https://dl.doubtnut.com/l/_lg3u7eJQEaKG


Watch Video Solution

20. Prove that : 

Watch Video Solution

sin4 θ + cos4 θ = 1 − 2 cos2 θ + 2 cos4 θ

21. 

Watch Video Solution

+ = 1 + secθ cos ecθ
tan θ

1 − cot θ

cot θ

1 − tan θ

22. 

Watch Video Solution

+ = 1 + secθ cos ecθ
tan θ

1 − cot θ

cot θ

1 − tan θ

https://dl.doubtnut.com/l/_lg3u7eJQEaKG
https://dl.doubtnut.com/l/_ZozhtwoeFtCC
https://dl.doubtnut.com/l/_pyi8AIq8Gvy6
https://dl.doubtnut.com/l/_mnpt3X2vamNx
https://dl.doubtnut.com/l/_1mlHdbPLbWfh


23. Prove that : 

Watch Video Solution

+ = 2 cos ecθ
tan θ

secθ − 1

tan θ

secθ + 1

24. Prove that 

Watch Video Solution

= .
cot θ + cosecθ − 1

cot θ − cosecθ + 1

1 + cos θ

sin θ

25. Eliminate .

Watch Video Solution

α, if x = r cosα, y = r sinα

26. Eliminate  from the equation .

h id l i

θ a = x secθ and b = y tan θ

https://dl.doubtnut.com/l/_1mlHdbPLbWfh
https://dl.doubtnut.com/l/_rDw8K67q1juH
https://dl.doubtnut.com/l/_byT0LAkLNPn3
https://dl.doubtnut.com/l/_8nbbjhbsUHk8


Based On Practice Set 6 2

Watch Video Solution

27. Eliminate  if  and 

Watch Video Solution

θ x = a cot θ − b cos ecθ

y = a cot θ + b cos ecθ.

1. An observer at a distance of 10 m from a tree looks at the top

of the tree , the angle of elevation is  . What is the height

of the tree ? ( )

Watch Video Solution

60∘

√3 = 1.73

https://dl.doubtnut.com/l/_8nbbjhbsUHk8
https://dl.doubtnut.com/l/_h9NnAkbcPkAY
https://dl.doubtnut.com/l/_4eqcXbUE7Jd8


2. From the top of a building , an observer is looking at a

scooter parked at some distance away , makes an angle of

depression of  . If the height of the building is 40 m , find

how far the scooter is from the building. 

Watch Video Solution

30∘

(√3 = 1.73)

3. From the top of the lighthouse , an observer looks at a ship

and finds the angle of depression to be . IF the height of

the lighthouse is 84 metre , then find how far is the ship from

the lighthouse ? ( )

Watch Video Solution

60∘

√3 = 1.73

https://dl.doubtnut.com/l/_ErHj6b6bXmU6
https://dl.doubtnut.com/l/_0GHqjM7q0EX4


4. A person
 observed the angle of elevation of the top of a

tower as 
 . He walked
 50m towards the foot of the tower

along level ground and found the angle of
elevation of the top

of the tower as 
. Find the
height of the tower.

Watch Video Solution

30o

60o

5. A person standing on the bank of a river observes that the

angle of elevation of the top of a tree standing on the

opposite bank is . When he moves 40 m away from the

bank, he finds the angle of elevation to be . Find the height

of the tree and the width of the river. 

Watch Video Solution

60∘

30∘

(√3 = 1.73)

https://dl.doubtnut.com/l/_XhMWVXZ4QxVF
https://dl.doubtnut.com/l/_dxtLyNzz0fzE


6. To find the width the river, a man observes the top of a tower

on the opposite bank making an angle of elevation . When

he moves  backward from bank and observes the same top

of the tower, his line of vision makes an angle of elevationfo

. Find the height of the tower and width of the river. 

Watch Video Solution

61∘

50m

35∘

(tan 61∘ = 1.8, 35∘ = 0.7)

7. Two buildings are in front of each other on either side of a

road of width 10 metres. From the top of the first building

which is 30 metres high, the angle of elevation to the top of

the second is . What is the height of the second building?

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_U7oDBrlwZseT
https://dl.doubtnut.com/l/_UgK9hVYzhYlT
https://dl.doubtnut.com/l/_KZhJ9ms9Up3K


8. The
horizontal distance between two poles is 15m. The angle

of depression of the
top of the first pole as seen from the top

of the second pole is 
. If the
height of the second pole is 24

m, find the height of the first pole. 

Watch Video Solution

30o

(√3 = 1. 732)

9. Roshani saw an eagle on the to of a tree at an angle of

elevation of , while she was standing at the door of her

house. She went on the terrace of the house so that she could

see it clearly. The terrace was at a height of . While

observing the eagle from there the angle of elevation was .

At what height from the ground was the eagle? 

Watch Video Solution

61∘

4m

52∘

tan 61∘ = 1.8, tan 52∘ = 1.28, tann29∘ = 0.55, tan 38∘ = 0.78)

https://dl.doubtnut.com/l/_KZhJ9ms9Up3K
https://dl.doubtnut.com/l/_cak5lmAMvnOg


10. From the top of a building 60m high the angles of

depression of the top
and the bottom of a tower are observed

to be 
. Find the height of the tower.

Watch Video Solution

300and600

11. A ship of height 24 m is sighted from a lighthouse. From the

top of the lighthouse the angle of depression to the top of the

mast and base of the ship is  respectively. How far

is the ship from the lighthouse ? ( )

Watch Video Solution

30∘ and 45∘

√3 = 1.73

12. A tree
 breaks due to storm and the broken part bends so

that the top of the tree
 touches the ground making an angle

https://dl.doubtnut.com/l/_YgXkbpjNUkhy
https://dl.doubtnut.com/l/_VSizm2MR0NjS
https://dl.doubtnut.com/l/_i6t5VjPR4NTT


Chapter Assessment

of 
 with the
 ground. The distance between the foot of the

tree to the point where the top
 touches the ground is 10m.

Find the height of the tree.

Watch Video Solution

30o

13. A tree is broken by the wind. The top of that tree struck the

ground at an angle of  and at a distance of 30 m from the

root. Find the height of the whole tree. (  = 1.73)

Watch Video Solution

30∘

√3

1.  =cot 60∘

https://dl.doubtnut.com/l/_i6t5VjPR4NTT
https://dl.doubtnut.com/l/_KRupp71raUMV
https://dl.doubtnut.com/l/_ANB7IqSzc85M


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√3

1

√3

√2

1

√2

2. 

A. 0

B. 

C. 

D. 1

tan θ. cot θ =

√3

1

√3

https://dl.doubtnut.com/l/_ANB7IqSzc85M
https://dl.doubtnut.com/l/_LgFv3wq0VBFs


Answer: D

Watch Video Solution

3. When we see at a lower level , from the horizontal line , angle

formed is ………..

A. angle of elevation

B. angle of depression

C. 0

D. straight angle.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_LgFv3wq0VBFs
https://dl.doubtnut.com/l/_LcRlHdu6khCx
https://dl.doubtnut.com/l/_gVqLOdGLaVCC


4.  =

A. 0

B. 3

C. -9

D. 9

Answer: D

Watch Video Solution

9 sec2 A − 9 tan2 A

5. If the distance of a point from the tower is equal to the

height of the tower , then find the angle of elevation of the top

of the tower from that point .

Watch Video Solution

https://dl.doubtnut.com/l/_gVqLOdGLaVCC
https://dl.doubtnut.com/l/_tTcumNcpVB36
https://dl.doubtnut.com/l/_CCKI7iwaW33c


6. If  , then find the values of .

Watch Video Solution

cos ecθ =
13

12
cot θ and sin θ

7. Prove the identity  with the help of given

figure . 

Watch Video Solution

sin2 θ + cos2 θ = 1

https://dl.doubtnut.com/l/_CCKI7iwaW33c
https://dl.doubtnut.com/l/_TIOl6bD52gAe


8. A person standing at a distance of 90 m from a church

observes the angle of elevation of its top to be  . Find the

height of the chruch .

Watch Video Solution

45∘

9. 

Watch Video Solution

=
tan θ + sin θ

tan θ − sin θ

secθ + 1

secθ − 1

10. If  , then prove that 

Watch Video Solution

cos θ + = 4
1

cos θ

cos2 θ + = 14.
1

cos2 θ

https://dl.doubtnut.com/l/_bcG3fRHBSuXR
https://dl.doubtnut.com/l/_fPksqBRcYCBM
https://dl.doubtnut.com/l/_ZIEEYTywPoPL


11. Prove the following: 

Watch Video Solution

sec6 x − tan6 x = 1 + 3 sec2 x × tan2 x

12. A tree breaks due to storm and the broken part bends, so

that the top of the tree touches the ground making an angle

of  with the ground . The distance from the foot of the tree

to the point where the top touches the ground is 5 metres .

Find the height of the tree. ( )

Watch Video Solution

60∘

√3 = 1.73

13. Two buildings are in front of each other on a road of width

15 meters. Form the top of the first building, having a height of

https://dl.doubtnut.com/l/_8Hi06n8ndJg7
https://dl.doubtnut.com/l/_tmolXQf3i8zI
https://dl.doubtnut.com/l/_ywURohLIpR5N


12 meter, the angle of elelvation of the top of the second

building is . What is the height of the second building?

Watch Video Solution

30∘

14. If , then find the value of .

Watch Video Solution

tan θ = 1
sin θ + cos θ

secθ + cos ecθ

15. A straight
 highway leads to the foot of a tower. A man

standing at the top of the tower observes
a car at an angle of

depression of 
 , which is
approaching the foot of the tower

with a uniform speed. Six seconds later, the
angle of depres

Watch Video Solution

30o

https://dl.doubtnut.com/l/_ywURohLIpR5N
https://dl.doubtnut.com/l/_3np3WGlzExwK
https://dl.doubtnut.com/l/_lSnyQArs6AiS


16. If  then prove that 

Watch Video Solution

sin θ + tan θ = P = sin θ
p2 − 1

p2 + 1

17. If  find the acute angle .

Watch Video Solution

3 tan2 θ − 4√3 tan θ + 3 = 0, θ

18. Eliminate  if  and 

Watch Video Solution

θ x = a cot θ − b cos ecθ

y = a cot θ + b cos ecθ.

https://dl.doubtnut.com/l/_pRqIRHtfQH7U
https://dl.doubtnut.com/l/_vEIwGWHFkEiq
https://dl.doubtnut.com/l/_kE9ZVbrAZyhI

